Table of codimension 4 Fanos in cluster format
Stephen Coughlan Tom Ducat

In the ‘Candidate’ column we list the GRDB ID, ambient space, and basket of the candidate, ‘index’
is the Fano index, N refers to the number of constructions found. The final two columns display each

s (4) : 612 023 031 | 61 62 O3
construction in Cy or Gy~ format. In general, Co formats are displayed as A A Ao | A A A ‘ A}, and

012 023 034 041 | 01 O2 O3 04 | A13 ; — — ; ; ;
Gg formats are <A12 A Ao AL A A A A /\24), with d(Aj2) = d(As4) = 0 because we are in codimension

4. If d(\) = 0 then Co-format specialises to P? x P2 format. If exactly one (respectively both) of d(A13) and
d(A24) is 0 then Ggl)—format specialises to Rolling factors format (resp. (P!)3-format).

Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
25 X cP(2,5,6,7,8,9,10,11) 1 Co (§1R2|9etls)
7x3(1,1,1), £(1,1,4), $(1,2,5)
38 X CcP(2,3,4,5,6,7,8,9) 1 Cy (e9153810)
7x3(1,1,1), 5(1,1,2), §(1,3,5)
166 X cP(2,2,3,3,4,4,5,5) 0 None
11 x $(1,1,1), 3(1,1,2)
282 X cP(1,6,6,7,8,9,10,11) 2 Cy (§wiz|l061l]s)
4
2L, 2x gL, G & (F33%136%%13)
308 X cP(1,5,6,6,7,8,9,10) 0 None
_______________ 244D, 3(11,2), 5(4,28)...
327 X cP(1,5,5,6,7,8,9,11) 2 Cy (T2Y22913)
4
o 2xE23), 050 & (BER¥I588012)
342 X cP(1,4,6,7,7,8,9,10) 1 Cy (WEW0[862]5)
2% 5(1,1,1), 1(1,1,3), (1,1,6)
360 X cP(1,4,5,6,7,7,8,9) 1 Rolling (FeBWI38552)
2 x 1(1,1,3), (1,1,5), £(1,2,5)
368 X CP(1,4,5,6,6,7,8,9) 2 Cy (88101883(3)
ks, 5(1,2), g (LL3) Rolling | (F85 710 56%8)
393 X cP(1,4,5,5,6,7,8,9) 0 None
_______________ 2L LD, gL L4, 5(123)...
455 X cP(1,4,4,5,6,7,9,13) 2 Cs (27%8134%9]2)
4
2k FL13), ) G (MRl
501 X cP(1,3,6,7,8,8,9,10) 1 G (Poisiz|ae810l)
_______________ 2L, 4x 31,02, gL
511 X cP(1,3,5,6,7,8,11,14) 2 Co (T892 4)
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Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
4
o FLLE), L3I S (F39 Y9880 13)
512 X c P(1,3,5,6,7,7,8,9) 1 GV (129159]7578[4)
3x £(1,1,2), $(1,2,3), (1,1,6)
549 X cP(1,3,4,5,6,7,10,13) 2 Co (2TR[24912)
4
R JLLD, J0 L4, F03,00 & (B9 81838%813)
550 X CP(1,3,4,5,6,6,7,8) 1 GV (96159|63782)
$(1,1,1), 3x 3(1,1,2), 3(1,1,3)...
569 X C P(1,3,4,5,5,6,7,9) 1 oy (B1981758312)
2% 3(1,1,2), £(1,2,3), $(1,4,5)
570 X cP(1,3,4,5,5,6,7,8) 2 Cy (168]1847]4)
SO 3(L12), 5(1,13), s(LL4)... Rolling ($85 5[5 53 2[8)
574 X CcP(1,3,4,5,5,6,7,7) 1 Rolling (248061512
_______________ 3112, 5114, 5(1,23)...
577 X cP(1,3,4,5,5,6,6,7) 1 P2 x P2 (267154 510)
$(1,1,1), 3x 3(1,1,2), 2x £(1,1,4)
642 X cP(1,3,4,4,5,6,7,11) 0 None
_______________ 2L, 3(11,2), 3L L3)...
644 X CP(1,3,4,4,5,6,7,10) 1 G (J41410|74681)
3(1,1,1), 2x §(1,1,3), 15(1,3,7)
645 XCP(1,3,4,4,5,6,7,7) 2 Cy (27%1847%]2)
4
3 FLLD, 0,13), 2x 2130 & (V1% 1163831%)
648 X cP(1,3,4,4,5,5,6,7) 2 C, (2681637 12)
B 3(1L1,2), 3x3(1,1,3), 5(1,2.3) Rolling (36516553 418)
869 X cP(1,3,3,4,5,7,10,13) 2 Cy (278 |18%9]s)
4
okl s ¢ (Bey¥I52als)
872 X C P(1,3,3,4,5,5,6,7) 1 G (98129(6337|1)
5x 3(1,1,2), £(1,1,4)
878 X cP(1,3,3,4,4,5,5,6) 2 P? x P2 (128183 "3)0)
4
LA 2Ly & (3885134341%)
1069 X cP(1,2,6,7,8,9,9,10) 1 Co (581228 911)
5% 3(1,1,1), (1,1,2), $(1,1,8)
1082 X cP(1,2,5,6,7,9,11,13) 3 Co (H2%108 W)
4
§(1,1,5), $5(1,2,11) Gy (¢72 815385 1%)
o Rolling (F65n[682 %[0)
1084 X cP(1,2,5,6,7,8,8,9) 1 Co (G810|842]3)
4% 1(1,1,1), £(1,2,3), £(1,1,7)
1091 X c P(1,2,5,6,7,7,8,9) 2 GV (128159]7578|3)
LD, 3L L6, g2 Rolling  (F§7&[632%6)
1115 X cP(1,2,4,5,6,7,7,8) 1 Cy (48101748]1)



Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
5% 3(1,1,1), 1(1,1,3), 1(1,1,6)
1122 X cP(1,2,4,5,5,6,6,7) 1 Co (8981847%]1)
5x 5(1,1,1), $(1,1,4), #(1,1,5)
1158 X cP(1,2,3,5,5,7,12,17) 2 Cy (3717]W2123)
4
S wd512) & (FRYYIVE5FIT)
1167 X cP(1,2,3,4,5,7,9,11) 3 Cy (BT 45430)
4
5(1,1,2), 1(11,3), {(1,2,9) G5! (839 4193531%)
S Roling  (§103[682%]0)
1169 X cP(1,2,3,4,5,7,7,9) 2 Cy (229152%]5)
4
N JLLD, 3034, 5027 &' (33931343018)
1172 X cP(1,2,3,4,5,6,6,7) 1 Cy (1581527 13)
4x 3(1,1,1), 2x 5(1,1,2), §(1,1,5)
1181 X cP(1,2,3,4,5,5,7,12) 0 None
_______________ 2L, 3(L13), 5T
1182 X cP(1,2,3,4,5,5,7,9) 3 Cy (329153713)
4
1(1,1,3), 1(1,2,3), §(1,2,7) Gy (33931343519
S Roling  (§307[032 %0)
1183 X cP(1,2,3,4,5,5,7,7) 2 Cs (B7%184%]1)
%(17173)7 2X%(1a275) Rolling (gilogg‘iggjfi‘g)
1185 X CP(1,2,3,4,5,5,6,8) 1 G (73138(32687|2)
3% 3(1,1,1), £(1,1,4), £(1,3,5)
1186 X CP(1,2,3,4,5,5,6,7) 2 G (8841 7|5356(3)
2D, 5(L12), S LA Rolling — (§15§[03356)
1218 X cP(1,2,3,4,5,5,5,6) 2 P? x P? (228153 %5]0)
2L, 5(LL4) 2x5(128) Rolling (686313532 5%[8)
1251 X CcP(1,2,3,4,4,5,7,11) 2 Co (221528 ]2)
4
ALy, §4n &' (985 4%]5355(2)
1253 X cP(1,2,3,4,4,5,5,7) 2 P? x P? (228153 %5]0)
4
2L 2x gL, 3128 &' (349 11838813)
1256 X cP(1,2,3,4,4,5,5,6) 1 Cy (159153313)
4% 1(1,1,1), 3(1,1,2), (1,1,3)...
1350 X CP(1,2,3,4,4,4,5,5) 2 Co (44%1833]1)
Ak, 3x gy ®° o (Giu3[o38 %]6)
1392 X cP(1,2,3,3,4,5,8,11) 2 Cy (1241628]4)
4
2L, L12), s & (935 1 13888]2)
1395 X cP(1,2,3,3,4,5,7,9) 2 Coy (8221837%]1)
4
k2 g2 & (335 41638313)
1397 X cP(1,2,3,3,4,5,5,8) 1 Co (1351333]4)



Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
_______________ 2(LLD, 3(11,2), 5(1,23)...
1401 X cP(1,2,3,3,4,5,5,7) 2 Co (2371838]1)
o 2xp(LL), 5(L28), 2(125) Rolling (4 357[6125(6)
1405 X cP(1,2,3,3,4,5,5,5) 2 Cy (333]44413)
1(1,1,2), 3x 1(1,2,3) Gy (334031838318
1410 X cP(1,2,3,3,4,4,5,7) 2 Cy (3371828]2)
o 3xa(LD, axp( L), (134) Rolling (03631651 208)
1413 X CcP(1,2,3,3,4,4,5,5) 2 P? x P? (443113 5]0)
2k, 2x5(L12), 4(L18)... Rolling | (63681603 200)
1766 X CcP(1,2,3,3,3,4,4,5) 2 P2 x [P? (342163 S0)
4
LD sxgy &' (§38818348[4)
2405 X cP(1,2,2,3,5,7,9,11) 3 Cy (3141728]3)
SX%(lvlvl)a %(17279) GgL) (8?1106131‘?3%(7]8‘%)
Rolling ($a05182808)
2410 X cP(1,2,2,3,4,5,5,6) 1 Co (2481535]1)
o TxaLY), LY
2421 X cP(1,2,2,3,3,4,5,8) 2 Co (2481528]1)
4
L (T S (X & (33'981538813)
2422 X cP(1,2,2,3,3,4,5,7) 3 P? x P? (349113 74|0)
4
4% 3(1,1,1), 3(1,1,2), 1(1,2,5) 65" (54321333419
Rolling (Sélolglé‘%%_l\%)
2427 X cP(1,2,2,3,3,4,5,5) 4 Cs (433]334]4)
4% 3(1,1,1), 2 x £(1,2,3) P? x P? 312183 510)
Gy (638315363(2)
] B (63021531 5%]6)
2438 X CcP(1,2,2,3,3,4,4,5) 2 Cy (2481833]1)
o GxaL, 5L, 5113 Rolling (638516 “130l0)
2511 X CcP(1,2,2,3,3,3,4,4) 2 Cy (444133313)
kL) 3xpl2) ®y (83841620 %2(8)
3509 X CcP(1,2,2,2,3,3,3,4) 2 Cs (244183¢8]1)
o sxpLy sty Rolling (62031363 %2[3)
4797 X cP(1,1,6,8,9,10,11,12) 3 Co (§1iz|9etls)
1(1,1,1), 1(1,1,2), £(1,1,11) Gy (52321389 HD)
Rolling (B8990 29829(3)
4810 X cP(1,1,5,7,8,9,10,11) 3 Co (T2Y32913)
£(1,2,3), #(1,1,10) Gy (G0 7I588017)
Rolling (FIo%[0 28 2%]8)
4825 X cP(1,1,4,6,7,8,9,10) 3 Co (88101883(3)
4
1(1,1,1), 3(1,1,3), £(1,1,9) Gy (BT RIT43813)



Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
o Rolling (F8571858%[8)
4839 X cP(1,1,4,5,6,7,8,9) 4 C, (ggg{ggg\z)
$(1,1,1), 1(1,1,4), £(1,1,8) P2 x P2 (898|52 24]0)

G(4) 1061596478 2)

2 (0505‘1400‘3

Rolling (10521012}8—712171‘%)

4850 X C P(1,1,4,5,6,6,7,13) 1 G (Lat1s)6568)5)
_______________ 2L (L6, D)
4851 X cP(1,1,4,5,6,6,7,8) 3 Cy §681547]3)
1(1,1,1), 1(1,1,5), 1(1,1,7) Gy) (WGe[54¢713)
i Rolling (358061 7218)
4860 X cP(1,1,4,5,6,6,7,7) 4 Co (27%154712)
3(1,1,1), 2 x 1(1,1,6) P2 x P2 (gg;\gg_@,\o)

G(4) 11711765652

2 (0404‘0303‘4)
i Rolling (3081355 5[8)
4896 X C P(1,1,3,5,6,7,8,9) 3 C (378108513)
2x 1(1,1,2), 1(1,1,8) Gy) (36520580813
i Rolling (F39815 716 508)
4915 X cP(1,1,3,4,5,6,7,8) 4 Cs (4681637]2)
1(1,1,2), 1(1,1,3), &(1,1,7) P? x P2 (52716% 3 0)

(4) 85138(5367]|2

G2 (0404‘1400‘3)
o Rolling (§35851098518)
4925 X cP(1,1,3,4,5,6,7,7) 2 Co (T371325]5)
e FLLO), 334 G (51531523818)
4938 X C P(1,1,3,4,5,5,6,11) 1 G (9312115457 4)
_______________ 3L L2 (L5, 6)
4939 X cP(1,1,3,4,5,5,6,7) 3 Cs (33713%¢13)
1(1,1,2), 1(1,1,4), L(1,1,6) Gy) (830 715%3813)
i Rolling — (§355[664218)
4949 X cP(1,1,3,4,5,5,6,6) 4 Co (158153812)
1(1,1,2), 2 x £(1,1,5) P2 x P2 (322\33_73\0)

(4) 9696|5454(2

G2 (0303‘0303‘4)
o Rolling (68531355 5%18)

4987 X CcP(1,1,3,4,4,5,9,13) 2 Cs 3513181913

6
4

e w4 < (979 %538002)
4989 X CP(1,1,3,4,4,5,6,7) 4 Co (157153812)
2 x 1(1,1,3), 2(1,1,6) P2 x P2 (428153 %5]0)

G(4) (84117‘5356‘1)

2 04041030012

(P1)3 (548533 510)



Codimension 4 Fano 3-folds of index 1

N Format Weights
D X C P, basket c (%E?{i‘ég\&*)
5000 X CP(1,1,3,4,4,5,5,9) ' i
W45
_______________ } <114><145>4 e (4381333]2)
5002 XcP(1,1,3a474’5’51’6) P2 x P2 (138183 % o)
11 13), 301,49, 5(01,1.5) o (83381341413)
Rolling (04881723 215)
------------------------------------------------------ 3G (3aa]aa4ls)
5052 X C P(1,1,3,4,4,5,5,5) o (73103)4333(1)
----------------------------------------------------------------------- 3G T s8]
5140 X CP(1,1,2,4,5,6,7,8) G (25%5%1538712)
1 p
3% 3(1,1,1), (1,1,7) Rolling (B48817 5353
__________________________________________________________ 357526‘2)
------------------------------------- 4 Cy (434‘040
5163 XCP(17172’3’4’5’6’7)1 P2 x P2 (53818% “4lo)
2% 5(1,1,1), 3(1,1,2), 7(1,1,6) G (64U 7|4286|2)
Rolling (o %Z } 8 —513—51 ‘ ‘%; .
................................................. 357 516‘3
---------------------------------- 2 Cy (324‘060
5176 X CP(LL234.557) ol (83571534218)
25 G (saa1[anase)
_______________ ; <114>7<125>2 G (345132310)
ST X CR(L,1,2,3,45,56) o (8238143451%).
___________ } _<_1_,_1_,__1_>_,___é_(_l_a_?;??a.6.<.1z.1.z.5.>......----------------1------------¢<4->““""“'“““'('gg13?\333?\%)
5202 X C P(l, 1,2,374747579) S e
e XML SAD) g o T (3461433]%)
5203 XCP(1,1,2,3,4,4,5,6)1 s o (6498|42458|2)
1 6 17 ’
2% 3(1,1,1), 7(1,1,3), 5( Rolling (33581333 503)
........................................................ 355 425‘2)
-------------------------------- 4 Gy (324|040
215 XCR(,1234455) P2 x P2 (343183 %10
2 x 1(1,1,1), 2 x 1(1,1,4) oW (1373]4348]2)
Rolling (6304114325 (3); 5
............................................... 1511 628‘1
----------------------------------- 2 C2 (75 3 {020
260 X CPOL23358.10 G\ (3% 41848513)
............... i <138>2c (2119[817]2)
5263 X cP(1,1,2,3,3,4,7,10) Ggﬁ (81u 130_‘_8.5 _3 _(7)_ \_ ;)
________ : <111><137>2C<|\>
5265 X cP(1,1,2,3,3,4,5,8) Rolling GLHEEDN
_________ ] <113><135>2C(|\>
5266 X cP(1,1,2,3,3,4,5,7) Rolling (5714218 8:2.‘.3.)...
5028, 234 o Rolmg (354 116(423]2)
............... BT 4 Co (333‘130
5268 X CP(1,1,2,3,3,4,5,6) P2 P2 (348163 o)
11,1,1), 2% 3(1,1,2), 5(1,1,5)



Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
Gy (53851838813)
SRS UT OO B (63531 131 5[0)
5279 X cP(1,1,2,3,3,4,5,5) 2 Co (333]32413)
R FLL2), 30, 5028 & (3783133331%)
5303 X CcP(1,1,2,3,3,4,4,7) 1 Cs (247133%]2)
_______________ 2L, 3(L13), (L34
5305 X cP(1,1,2,3,3,4,4,5) 2 Cy (44%13331]4)
Rk ga2s) & (Br8slaitels)
5306 X cP(1,1,2,3,3,4,4,5) 4 Cy (3431831]2)
$(1,1,1), 1(1,1,2), $(1,1,3)... P2 x P2 (333153 5 ]0)
65" (63831631313)
SR Rolling (53831153 413)
5410 X CP(1,1,2,3,3,4,4,4) 3 Cy (443133313)
JL11), 3% £(1,1,3) G5! (54841338815
SRS B (6504[650 2[6)
5516 X cP(1,1,2,3,3,3,4,7) 1 Cy (337]424]3)
B L (I O
5519 X cP(1,1,2,3,3,3,4,5) 3 Cy (333]3%¢11)
3% 1(1,1,2), 1(1,1,9) G5! (53831833319
SRS B (65030030 2(8)
5530 X cP(1,1,2,3,3,3,4,4) 4 Co (3441333]2)
2x 1(1,1,2), 2x 1(1,1,3) P? x P2 (3341243 4 0)
Gy (53831881113)
SR Rolling | (65531580 4 00)
5841 X cP(1,1,2,2,3,5,7,9) 3 Cy (6391537]1)
3(1,1,1), 5(1,2,7) Gy (53031258¢01%)
OSSOSO OSSOSO USROS Roling (3242863 7 (0)
5845 X cP(1,1,2,2,3,4,5,6) 3 Cy (24513%311)
4% 5(1,1,1), 1(1,1,5) GgY (53841338313
SR Rolling | (635318 130(0)
5859 X CP(1,1,2,2,3,3,5,8) 1 GV (7278|5234(2)
ks, L8
5860 X cP(1,1,2,2,3,3,5,7) 3 Cy (337154313)
11,11, 51,1,2), 1(1,2,5) GgY (33871333819
SR Roling (32058012 5[0)
5862 X cP(1,1,2,2,3,3,5,5) 2 Co (13313%311)
SO s(LLY), 2x5(128) Rolling | (63331102 %[3)
5866 X cP(1,1,2,2,3,3,4,7) 1 GV (6277|4234(2)



Codimension 4 Fano 3-folds of index 1

ID X C P, basket N Format Weights
3% 3(1,1,1), 2(1,3,4)
5867 X cP(1,1,2,2,3,3,4,5) 1 Co (2341824]2)
2 x 3(1,1,1), 1(1,1,3), 3(1,2,3)
5870 X cP(1,1,2,2,3,3,4,5) 4 Cy (33313%4]2)
3% 3(1,1,1), (1,1,2), £(1,1,4) P? x P2 (334133 50)
G(4) (5375‘3234‘2)
2 0202]1210/(2
S Rolling | (63831002 1[0)
5914 X cP(1,1,2,2,3,3,4,4) 2 C, (244182¢8|1)
A 2xgary Rolling (32531202 5[5)
5963 X cP(1,1,2,2,3,3,3,5) 2 Cy (33%13%313)
3 JLLD, 2x5(11,2), 31,23 S (33671333313)
5970 X CcP(1,1,2,2,3,3,3,4) 4 Cy (3341323 ]2)
2% 3(1,1,1), 2 x 3(1,1,2), 1(1,1,3) P? x P2 (334183 4 |0)
G(4) (5364‘3233‘1)
2 0202(02011]2
SR ® (63531875 1[6)
6217 X cP(1,1,2,2,3,3,3,3) 2 Cy (3331823|1)
SR 3LLD Ax 3L Rolling .. (838318032 [0)
6860 X cP(1,1,2,2,2,3,3,5) 2 P? x P2 (3341335 55]0)
1% 1(1,1,1), L(1,2,3) Gy (6363185841%)
6865 X CP(1,1,2,2,2,3,3,4) 2 GV (5354]3223|2)
L (CEE 1 (L Rolling (33831312 515)
6878 X cP(1,1,2,2,2,3,3,3) 3 Cy (3331333 ]2)
4x 1(1,1,1), 2% 1(1,1,2) P2 x P2 (233177 4]0)
e Rolling (838312213 518)
8051 X CcP(1,1,2,2,2,2,3,3) 2 Co (3341833]1)
o Txany ® (63531520 %[6)
10963 X cP(1,1,1,3,4,5,6,7) 3 Co (337158813)
7(1,1,6) Gy (526 5166861%)
e Rolling (938710 215 2208)
10985 X cP(1,1,1,2,3,4,5,6) 4 Co (248184312)
3(1,1,1), £(1,1,5) P? x P? (332184 5]0)
Gy (53881745513)
Rolling (038515 4 4418)
11004 X cP(1,1,1,2,3,3,4,7) 1 G (5187]4133]1)
1(1,3,4)
11005 X cP(1,1,1,2,3,3,4,5) 3 Cy ($331318]3)
1(1,1,2), 1(1,1,4) Gy (§3531353813)
Rolling (53831084 %13)
11021 X CcP(1,1,1,2,3,3,4,4) 4 Co (344131¢]2)



Codimension 4 Fano 3-folds of index 1

1D X C P, basket N Format Weights
2 x 1(1,1,3) P2 x P? (334183 50)

Gy (5151133831%)
S Rolling (62021153 %[3)
11104 X cP(1,1,1,2,2,3,5,7) 2 Cs (137]833]1)
N 25 &' (348218488[4)
11106 X CcP(1,1,1,2,2,3,4,5) 4 Co (333|35¢12)
2% 5(1,1,1), 5(1,1,4) P? x P? (334185 250)

G(4) 427531341

2 (0202‘0300‘2)
S ® (63641 531 %[6)
11123 X cP(1,1,1,2,2,3,3,5) 2 Co (333134411)
SO 3(LL2), 5123 Rolling | (630310 2120l0)
11125 X cP(1,1,1,2,2,3,3,4) 4 Cy (3341813 2)
(L 11), 3(1,1,2), 3113) P x P2 (333183 40)

G(4) (5344‘3222‘2)

2 0101(0212]3
S Rolling (630217 513 5[8)
11222 X cP(1,1,1,2,2,3,3,3) 3 Cy (33313%2]3)
3% 3(1,1,2) Gy (536313383132)
SR @ (63531320 %[6)
11437 X cP(1,1,1,2,2,2,3,5) 1 Co (33%]343]2)

2% §(1,1,1), £(1,2,3)

11440 X cP(1,1,1,2,2,2,3,4) 3 Co (324134311)
3x5(1,1,1), 7(1,1,3) Gy (53611378313)
S ® (63531520 5[6)
11455 X cP(1,1,1,2,2,2,3,3) 4 Cs (333]222]2)
2% 3(1,1,1), 2 x 3(1,1,2) P? x P2 (32333 3 |0)

G(4) 4343(2222]2

2 (0101‘1111‘2)
o Rolling | (63821285 "1[0)
12063 X cP(1,1,1,2,2,2,2,3) 2 Coy (ggﬂ%g%‘l)

4

oAy g & (§3631383311)
12960 X cP(1,1,1,2,2,2,2,2) 2 P? x P? (33%]222]|0)
o SxsLy B (630213833(0)
16206 X CP(1,1,1,1,2,3,4,5) 3 Cy (383[83511)
5(1,1,4) Gy (330%1328813)

Rolling (630516 23810)

16227 X CP(1,1,1,1,2,2,3,5) 1 GV (4133]3123(1)
_______________ s(L23)
16228 X cP(1,1,1,1,2,2,3,4) 4 Cy (224]243]2)
11,11, 1(1,1,3) P? x P? (333[13 %0)

G(4) (3254‘2123‘2)

2 0101121012



Codimension 4 Fano 3-folds of index 1
1D X C P, basket N Format Weights

16246 X cP(1,1,1,1,2,2,3,3) 2 Cy (333]1233]1)
2% 3(1,1,2) Rolling (335231233 2%12)
R P1,1,1,1,2,2,2,3) ' e (323]212]2)
2% 3(1,1,1), 3(1,1,2) P? x P? (333121 3 |0)
6! (526818381%12)
SRS O OO B (6263[6184[6)
16645 X cP(1,1,1,1,2,2,2,2) 2 Cs (322]212]1)
4% 5(1,1,1) Rolling (62331682 Al6)
swae K€ P1,1,1,1,1,2,3,4) 2 & (124|218]1)
S 10 S (G201[F138[1)
20544 X cP(1,1,1,1,1,2,2,3) 2 Co (3231312]1)
%(lel), %(17172) Rolling (%%8%’%—21%3‘(1))
20652 X cP(1,1,1,1,1,2,2,2) 2 P2 x P2 (533 41%]0)
3% 1(1,1,1) Gy (5361l1158(1)
s K e P1,1,1,1,1,1,2,3) 2 P2 xpP: (133[113]0)
B 30 L) S (G10f[8113[1)
24097 X cP(1,1,1,1,1,1,2,2) 2 Cy (122]112]1)
2% 3(1,1,1) (Ph)? (3121 211 408)
s X C P1,1,1,1,1,1,1,2) > PZx P (112182 0)
3(L1,1) Rolling (31321101 Al8)
20374 X cP(1,1,1,1,1,1,1,1) 2 Ay + CID (213[118]n)
SO O OO OU OO USROS At (@581lot1alt)
Codimension 4 Fano 3-folds of index 2
1D X C P, basket N Format Weights
39557 X cP(2,5,5,6,7,8,9,11) 2 Cy (T2Y32913)
2% 1(2,2,3), L(2,5,6) Gy (FeR Izl
39569 X'éipi(é'é;'s'é;f;'é; S 0o  Nome
3x£(1,2,2), £(2,2,3), 1(1,2,6)
30576 xe'ﬁs('g“sz“s,'s;'e; 79 o  Nome
2% 3(1,2,2), £(2,2,3), §(2,4,5)
30578 k'éﬂn&('z';3,'4;'5','5','6,"7','75 """"""""""" 1 Rollng ~ (W2U8[7647,2)
__________________ 3(1,2.2), 5(1,2,4), 5223)...
39605 X cP(2,3,3,4,5,7,10,13) 2 Cy (22212 9]s)
2% 1(1,2,2), £(2,3,10) Gy (5808585012
39607 xaﬁs('s'gz;s;'s; 67 0o  Nome

5x 1(1,2,2), £(1,2,4)



Codimension 4 Fano 3-folds of index 2

1D X C P, basket N Format Weights
39660 X CP(2,2,3,5,5,7,12,17) 2 Cy (37| 9212s)
4
SR e N o (CRGYIVE5TIE)
39675 X CcP(2,2,3,3,4,5,7,9) 1 Co (229153711)
3% 3(1,2,2), $(2,2,7)
39676 X cP(2,2,3,3,4,5,5,7) 1 Co (2371838]1)
2% £(1,2,2), $(2,2,3), (2,2,5)
39678 X cP(2,2,3,3,4,5,5,5) 1 Co (333]54413)
__________________ 3(1,2,2),3x5(223
39890 X cP(1,2,5,7,8,9,10,11) 2 Cy (T2483249]s)
(4)
I 5223), q@L210) & ($80 715800 17)
39898 X cP(1,2,3,5,6,7,8,9) 2 Co (272158813)
4
R 2x3(122), 5028 et (34'53/8358(2)
39906 X cP(1,2,3,4,5,6,7,7) 1 Cy (T37138515)
__________________ 7(1,2,6), 2234
39912 X cP(1,2,3,4,5,5,6,11) 0 None
__________________ 5(L,2.2), (256
39913 X cP(1,2,3,4,5,5,6,7) 2 C, (357133813)
SRR 5(1,2.2), 5(1.2.4), 7(1,26) Rolling  (4155]663%(3)
39928 X cP(1,2,3,4,4,5,9,13) 1 Cy (2213188313)
__________________ w249
39929 X CP(1,2,3,4,4,5,5,9) 1 Co (8391465]3)
__________________ s(L24), 545
39934 X cP(1,2,3,4,4,5,5,5) 2 Cy (333]444]3)
I 3% s @) (Gan3[e38 5[0)
39961 X CP(1,2,2,3,4,5,5,7) 1 C (337136613)
__________________ 5(L2,4), 2(225)
39968 X cP(1,2,2,3,3,5,8,11) 2 Cy (L34]838]1)
4
I f@238 e (6395[6580%)
39969 X cP(1,2,2,3,3,4,5,7) 2 Co (53751838]1)
o 5223, 72349 Rolling (5549 3[105 ()
39970 X cP(1,2,2,3,3,4,5,5) 1 Cy (333]824]3)
__________________ 5(1,2.2), 5(1.2.4), 5223
39991 X cP(1,2,2,3,3,3,4,7) 1 Cy (3371434]3)
2% £(1,2,2), 3(2,3,4)
39993 X cP(1,2,2,3,3,3,4,5) 2 Cy (333]3%411)
I 3x3(L,2,2), 5(L24) ® (63030630 %(8)
40360 X cP(1,1,2,3,4,5,6,7) 2 Cy (3371845]3)
4
R HL20) e (330 318853612)
40367 X cP(1,1,2,3,4,5,20,21) 0 None
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Codimension 4 Fano 3-folds of index 2

1D X C P, basket N Format Weights
__________________ (1,220
40370 X CcP(1,1,2,2,3,3,4,7) 0 None
__________________ P23
40371 X CcP(1,1,2,2,3,3,4,5) 2 Cy (333134413)
T 5(1L2,2), (1,24 Rolling (63831084 213)
40378 X cP(1,1,2,2,3,3,18,19) 0 None
__________________ 3(1,2.2), (1,218
40399 X CcP(1,1,2,2,2,3,5,7) 1 Cy (13%18%3]1)
__________________ )
40400 X cP(1,1,2,2,2,3,3,5) 1 Co (333]83¢8]1)
__________________ 3(1,2.2), 52,28
40407 X CcP(1,1,2,2,2,3,3,3) 2 Cy (33313%2]3)
I 3x3(L22) ® (63531628 %[8)
40663 X cP(1,1,1,2,2,3,4,5) 2 Co (333]83¢8|1)
4
SR T < L (63071223013)
40671 X cP(1,1,1,2,2,2,3,5) 0 None
__________________ 3(223)
40672 X cP(1,1,1,2,2,2,3,3) 2 Co (333135311)
o 2x5(L2y) Rollng | (81331285 %[3)
40933 X cP(1,1,1,1,1,2,2,3) 2 P? x P? (123]11 3]0)
4
SR sz e (613718113[1)
41028 X cP(1,1,1,1,1,1,1,1) 2 P? x P? (F1il588]0)
ST ® (81311060010)
Codimension 4 Fano 3-folds of index >3
ID X C P, basket index N Format Weights
41058 X CP(2,3,4,5,6,7,7,8) 3 0 None
.............. 5x5(L1L 1), 1(1,3,3), 3(1,3,6)
41063 X CcP(2,3,3,4,4,5,5,7) 3 2 P2 x P2 (128153 %5]0)
4
R 2x3(L1L1), 23 §(13,3), 32,35 & (545 718356[2)
41100 X cP(1,3,5,7,8,9,10,11) 3 2 Cy (T2483249]3)
4
R 233, f0310 G (BEvvIsINIL)
41111 X cP(1,2,3,4,5,6,7,8) 3 2 Cy (1581527 13)
4
B 3x3LLD, §03) & (339%1838012)
41116 X cP(1,2,3,3,4,5,5,7) 3 1 Cy (3371888]3)
______________ 5(L3.4), 2(235)
41124 X cP(1,2,3,3,4,4,5,5) 3 2 P? x P? (342153 55]0)
4
2% 3(1,1,1), 2% §(1,3,4) Gg! (33531638313)



Codimension 4 Fano 3-folds of index >3

1D X C P, basket index N Format Weights

41199 X CP(1,1,2,2,3,3,5,7) 3 1 G (3187|4133(1)
1(2,3,5)

41200 X CP(1,1,2,2,3,3,45) 3 o P2xP? (334138 %]0)

. 2x3(LLD, F34) & (830313383813)

41218 X cP(1,1,2,2,2,3,3,4) 3 2 Cy (3341333]1)
3x3(L,11), 34,33 S (83031830 %(8)

41245 X cP(1,1,1,2,2,3,4,5) 3 0 None
$(1,1,1), £(1,3,4)

41263 X CP(1,1,1,1,2,3,4,5) 3 o None
1(1,3,4)

41297 X C P(2,3,3,4,4,5,5,5) s ' S (333]444]s)

.............. s(L12), 3x5(23,4)

41334 X cP(1,2,3,3,3,4,4,5) 4 2 Cs (333]828|1)
3x3(L12), 5(L44) ®y (63841830 2[0)

41372 X CcP(1,1,2,2,3,4,5,7) 4 1 Co (13%18%311)
1(2,4,5)

41373 X CP(1,1,2,2,3,3,.45 T o (133]354]1)
3(1,1,2), £(2,3,4)

41390 X CP(1,1,1,2,2,3,4,5) . 0o None
1(2,3,4)

41418 X C P(1,3,4,4,5,5,6,7) 5 o P2xP? (436[33 7 0)

. 2x3(L13), $(156) 6 (348 71338813)

41448 X CP(1,1,2,3,3,4,5,7) 5 1 G (5187]4133]1)
1(3,4,5)

41464 X Cc P(1,5,6,7,8,9,10,11) 6 > G (T9U|3319]5)

B 5(123), (L,6,10) & ($80 715805 3)

41466 X cP(1,2,3,4,5,5,6,7) 6 1 Cy (3371848]3)
1(1,1,4), 1(2,5,6)

41470 X cP(1,1,2,2,3,5,6,7) 6 o None
1(2,5,6)

41475 X CP(2,3,4,5,5,6,7,8) T 1 g (131B8|3287|2)

.............. 3x (L), 5(L,2.4), 5B57)

41476 X C P(2,3,3,4,5,7,8,11) 7 1 GV (lozis1l|73581)
2x5(1,1,1), 5(1,1,2), 5@78

41490 X cP(1,2,2,3,3,5,7,8) 7 0 None

2% 3$(1,1,1), £(3,5,7)
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